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3.) § eecdx dx
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Math 16 B
Kouba
Trigonometry Formulae

1.) D (sin x) = cos x

2.) D (cos x) =-sin x
3.) D(tanx)=sec?x
4) D (secx)=secxtanx
5.) D(cotx)=-csc2x

6.) D (cecx) =-cscx cot x

1) Jeosx dx = sinx + C

2.) Isinx dx = -cosx + C

3) Jtanx dx = In|seex| + C

4) | secx tan x dx = secx + C

5) [secx dx =In|secx+tanx| + C
6.) fsec2x dx = tanx + C

7) Jootx dx = In|sinx| + C

8.) [ csc x cot x dx = -cscx + C

9) Icecxdx=ln|escx-cotxl+c

10) Jesc2x dx = -cotx + C

1) c0s2x+sin2x=1 1 TRTG

2) 1+tan2x=secx
3) t+cot2x=cscx
4.) sin 2 x = 2 sin x cos x
5) cos2x=2cos2x-1

=1-2sin2x

=cos2x-sin?2x W,
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5) § Femx-escix dx

(Fok uz tanX Lo dac = 2cdx o)
> Sudm = —;—(b('z-'f-c,: 3'-(74341.)()2—1-&
6.) § amX I+ cor™X) dx

= § (pnx + 2inX co®X ) dx

= = o X + JoinX cod X dx

(Tt u= CNX—‘»'OL"L“—-MXal«
—> —du= X o(%()

= — coa X +’Sua‘al,%
= — CoeX — Js—u3-1- &
= —-c,mx-—-—l-(mx)s-:-c/
E 3
%) S(Mx—m&)g‘ot«
= S(MQK—- 2 ATUX Cod, X + CO‘Q;Z)()J-j(

= ([ (eirfx+co™) = 200X coux [dy
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(MT&IW 1)
:S[i—RMKmK]d'X
- X—QSMX coe X X

3) \ (corx+ainx)oinX~ C‘»oQX)3a{4<
(2ot = sinx—coeX 2>
don = (cog-(=0inx)) e = (cooX+ainx) 4x)
= 5M3ob« = -,_‘Tb(q-I— C
= o (P~ cotX) + C
q,) S (42X + WX)R'M
= § (eec® X + 220X tanx +7(7»12><) Ax
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(Mae T“;ji""’”ﬁ{fz 2.)
= S [ e X + 200cx #anx + (aeciX—1) | dn
= ([Reect X~ + QpeeX FanX | dx

= gfanX—-X+ A4eeX + C

&) 10.) § 4eeX CAM:X+7GW\/><)5_J¢(
(Fok U= 20X + HAn X —>
= (4=eX MX—FA—%QX)M
= pecX (Fon X+ 42eX) dx—
I o du = e X dx —
EEES L du = geeX Ix )

SHS-—LA-M- = Suqab—t

U

_ _qu_:;_ o, = ——(mxwta«x) +C.

) SH—MX :5&_&_}.

= S (be +'i2’4l)<) co?(




= fn [seex+7onX [+ dneeex [+ C

= (K ~ sinx: eed’x) dx

= -aoQ?('-"—é—coﬂ,zX-l—C,

= Sadx (1+ten®x) dx
( (pec®X + a2Ex Aun® X)) dx
= AanX + _%_M3X+Q
4.) § X dx
(Max Triy Tantily 5 cod 2X= [~ 2.ain"X

—r 20X = (- o 2K — Mx:;%(l-mzx))

[

-



- éSCI—MQX)M
= %’:Cx-:;:M:Ax)+o
14.) §Han’x dx = §Hanx Aerx A
(Mee Trig Tdewtty 2.)
= (Honx (wecix-1) dx
= § (Fanx. ealx — FanX ) dx
- %Mx-ﬂ/n[u—c_x] @,
15.) § eec’x tanx di
- S,a»cf'x- poe X AanX Ax

= —i_—-mgx+ &



